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1. o7 U9 3R ereqr/<met % 57 4 : 1x5=5
Choose the correct answer/Fill up the
blanks : '

(@) wee ffewe wfer wme ATP +Co, /
NADPH, +ATP / NADPH, +0, 7% = |

The end product of light reaction
is ATP+Co, / NADPH, +ATP [/
NADPH, +0O;.

(b) FrRcem [ SR / 5RE i TR Flel WFHO
@R ZeR [RER |

Florigen / Auxin / Cytokinin is
responsible for initiation of flower.
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(2) :

| (3)
, ] AR !
o ZRARDE . ‘ 3.
§ize RIS o RS WCB ’ Wm‘ﬁw%&mﬁaﬁ =0 10
(c) =25 5 E ?‘ﬁ fie living cells t D
T m 11 ’ ( e :
ter is coming Oufi ﬁ; hypertonic ,1 Scribe the light feaction of photosynthesis
Wa e . . immerse . ?
when lticls/ isotonic solution: SR/ Or
hypoton 4
@ R w -
g TR AT mmq%?%mmm’ﬂ?ﬁmﬁm
(e TR SfeR R _
I ) entine is extracted from ? bl 24345-10
The alkaloid S€TP What are Phytohormones? Write different
o types' of . Plant  hormones Describe the
B [ physmloglcal role of auxin in plant
(e) ez T ¢ f mustard plant is

3x3g 4. ;r:mmmﬂf%%? 3T 17T R W

2. vy g st (RGPl R ! 5+5=10

Write short notes on (any three) :

(@) wfes A

Significance of 0smosis

What are the significances of transpiration?
Write the Munch hypothesis’ of translocation
of organic solute,

o
() Fomm 9% sl ToMe 4 of o
. , f ascent of sap ol ,
Dixon and Jolly’s theory o RIRS e e SR p— R 9% e
T TS Arey 59 7+3=10

(c) T <TERN
* Coenzyme Describe the mechanism of glycolysis. Write
the differences between fermentation and
(d) &< HE LTI anaerobic respiration.

Breakdown of dormancy
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(4)

5. woe TEd 791 Uend (qEIlE AR WA g
2 SePIEE IR o (R e o)
(1+2%5)xq<
Write the scientific name of the following

economically important plants with partg
used (any four) :

14

(@) = / Rice

() W= / Soya bean
(c) SR / Jute

(d) %9 |/ Teak

(e) % / Neem

() ¥ |/ Coffee

* %k K
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